HH~TER 015,025,032

Y40y LR
FL4LU Y

5217 REBR series

1EEN5TE)
)10 I m— Y — = )1 )Y
A w K
M REA
I REB_
2 Al _ _ _ ;
/V:é % REC
BER— rP(T5Y) Z|
EEIAEA EBSEB Ab-2
H
cB HA .
HT T Y 8x MM#a LZM &
|HP L 4XEEL ) oB HP
axy o) FE<JRC Ma
BACESE e
['S
8 4 & l RHC
355 IR ) i S A
® g RZQ
mER— P 3 o
RN HEA = T
HS | BEK— P w K 24y FL-MIDgE BER— P(T52)
CR HR fFBI75EB Q+z hO—2% G fEE)5EB
759 Z+2 +O0—2
. <22 mER-te mER—FP(I5Y) 8
BER— P EEHEB FHHEB H
RIS EA - ———— .
|,7, b i
N S
(e _ _ _ _ _ ]
T \gzy ) ) '
REBR15 REBR15
(mm)
Y A[BJ[cJ[cB][CR][D F | G [GP[GW ][ H [ HA [HB [ HC [ HP | HR [ HS [ HT
REBR15 |12 | 8 42 | 2 o5 |17 8 7 | 33 [315] 3 [ 30 [17 [ 3 | — [ 3 [85] —
REBR25 |125| 95 |52 | 3 |1 278 85| 10 | 44 [425| 44 | a1 [235] 43 [145] 41 | 65 [335
REBR32 | 19.5 |11 65| 3 | 15|35 |105] 16 | 55 |535] 55 | 52 |29 | 54 |20 | 51 | 7 |39
ET JXE K| LJ[Lb[M™ MM N P PW] o [aw [ T [TC [ W [wpP
REBR15 | M5x0.8x7 | 14 | 53 | 43 | 5 M4x0.7 | 6 M5x0.8 | 32 | 84| 18 |21 |17 |25 | —
REBR25 | M6x1x8 | 15 | 70 | 56 | 6 M5x0.8 | 6.5 1/8 43 [ 105 | 20 [255 225 40 [215
REBR32 |M8x1.25x10] 13 [ 76 [ 7 7 M6 1 8.5 1/8 54 [ 116 26 [33 [28 | 50 |27
FE X [ Y z
REBR15 | 18 [54.5| 98
REBR25 | 28 |72 | 125
REBR32 | 35 |79 | 148
D-OI
-XOI



